W eb- site
Solver

A study on the Development of Web-site
Solver for solving the Reliability Redundancy
Optimization problems

2001 2



2001 2



PN o 11 = (o AR i
....................................................................................... 1

1 1
0 4
Web- site Solver . 5

2 R 5
2 e e 6
2 ST 6
2 14
2 St 14
242 SA 19
2 21
....................................................................................... 25

31 1 25
32 2 30
....................................................................................... 35
....................................................................................... 36

A .37
B . b3



ABSTRACT

This paper deals with developing the Web-site solver for solving three
classes of redundancy reliability optimization problems which are generated
in series systems, parallel systems and complex systems. Inputs of the
solver are completely processed on the Web-site, and consisted in four
parts, that is, user authentication, select system, input data and confirmation.

HH (Hybrid-Heuristic) algorithm is incorporated in our solver for solving
the given three classes of problems. The algorithm is moderately combined
GA (Genetic Algorithm) with the modified SA (Simulated Annealing)

algorithm to alleviate the risks of being trapped in a local optimum. We

notice that the good solutions are obtained in examples.
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pop_size : .
GTOT : GA iteration

STOT : SA iteration
2.2
software

. pentium(r) pro processor, 1280 MB RAM

oS : Redhat LINUX 6.0 kernel 2.2.9-6kr
Web : Apache 139
Backend : PHP 3.0.12
DBMS - MySQL 3.22.22
2.3
user NRO Package
4
i)
i)
iii)
iv)
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MySQL  SELECT
< 13>
PHP . < 4>, <

Mrsil> select Ho,HaMe,System.Hode,eddes,M.r1.r2,r3,rd,rh. cl, c2, c3.cd, b, cb, c?, c8
»c9,¢c18,c11,c12 from system_datail:

| systen | node | edges | M | |
41| ch| b c | c8 | <9 ciH | ci1 | 012 |

gu | o ?5 | H ?5 | 8.88 | 8.60 |
5u| A

9.60 | 6.75 | u 88 | 0.85 | 8.90 |
4 I | 60 |

iH set (8,81 sec)

Mrsql>

< 13> Mysqgl  select



24

(local optimum)

< 14> (reoptimization
procedure) SA

1. Representation

2. Initial population

GA 3. Evaluation
4. Selection
5. Crossver
SA
< 14>
24.1
(population)
(fitness) (reproduction)
, (crossover) (mutation)
(generation)
5
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(Representation)

i) (Initial population)
i) (Evaluation)
iv) (Selection)
V) (Crossover)
i)
X 1<x, < u,
v X u;
u =4 X;  3bit . u, = 6, u, = 4,
u; = 6, u, =4, us= 10 X1 Xz , X3 X4, Xs
3, 3 3, 3 4 bit 16bit
x= (2,3,3,3,7)
X = [X13 X1p X11 X5 X5 Xp1 X33 X532 X31 X43 X42 Xa1 X54 X53 X5 X51]
= [0100110110110111]
X ii X ] bit
i)
pop_size
< 1>
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Procedure : Initialization

begin
count = 1,
for i« 1 to pop_size do
produce a random chromosome v; ;
if (v, is not feasible ) then

count « count+1 ;

end
end
if ( count == pop_size ) then
goto begin;
end
end
< 1>
pop_size = 5 , u, = 6,u,=4,u; = 6, u,
us = 10 ,
X, = [0100110110110111 = (2,3,3,3,7)
X, = [0111100110110001 = (3,6,3,3,1
X = [1101010111100101] = (6,5,3,6,5)
X, = [0100110110110111 = (2,3,3,3,7)

xs = [1100100110110111] = (6,2,3,3,7)
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i)

X eval (Xx;)

Rs (Xi) CX
eval (x;) =
Rs(xj)- M - X

,M(0<M<1) X

iv)
1. X (fitness)
eval (x;) = Rg(x;),i=1,2,..... ,pop_size
2.
pop . size
F = Zl eval(x;)
F- F
pop . size
3. X, E,
eval(X;
Ei_-——JAl
F
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(crossover) 2

X; = [a;a,a3a, a5 a5 a;aga9ay]

X, = [by b, by by bs by by by by by ]

)

x
-
|

[a; a, a3 by bs bg b; by by byy]

x
N
|

[b; b, by &, as ag a; ag ag ay]
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SA

Procdure : Crossover

begin
k<1 :

pop . size )

while ( k < 5

do

Xi , X

--( I:'I:J ] Xi1Xj

k—k+ 1;
end
end

bit )

SA

Metropdis[8]
SA

T SP(Travelling Salesman Praoblem)

SA

- 19 -

, Kirkpatrick[6]
, Cerny[1]
SA

(reoptimization procedure)



SA

Procdure : SA

begin
k—1;
while ( k< STOT ) do

X. = X,
i ]

- ( , 0<i#Fj<n )
r

--( , r 0 1)

, r=20

Xe= (X1, X2, o Xi- 1,00, - 1,

Xe= (X1, Xo, oo, Xi+ 1,0, X+ 1,

eval (x;) > eval (x.)

- 20 -
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step- 1. pop_size, GTOT, STOT .num = 1.

step- 2. (Initial population) pop_size

step- 3.(Evaluation) X;,i=1,2,.... ,pop_size
(fitness)

Rs (X) - X
eval (x;) =
Rs(xi)- M - X

step- 4.(Selection)

41
pop . size
F = Z}l eval(x;),
i=1,2,.... ,pop_size
F- F
pop . size
4.2 X E.
eval(x;) . _
Ei= ——=——,i=1,2,.... ,pop_size
F
43 X A,
A.= |E,+05],
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i=1,2,.... ,pop_size
44 Ai Xi

begin
k= 1;
i = 1
while ( i < pop_size ) do
if ( A;>1)then
=1
while ( ] <A, ) do

X = Xi;
j<i+ 1
k—k+ 1;
end
else
continue ;
end
k = 1;
while ( k < pop_size) do
X = Xi)
end
end
step-5.(Crossover) X

- 22 -



begin

k<1 :
. Size
while ( k< pq%) do
Xi oy X
--( i = v Xih X
p
- ( X; bit
p
k—k+ 1;
end
end
step- 6.(Finish check)
num > GTOT eval (x;)
step-3
step-7.( SA)
7.1 num = 1
72X, = X, .
0<i#+)j<n i, J
73 r O 1
74 , r=20
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’

75 eval (x;) > eval (x,)

num <— num-+1;
7.6 num > STOT step-8

step- 8. STOP.

list <
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Xc = (X/l,X/Z, ,X/i' 1,

X.= (X1, %o, o X+ 1, .,

X - 1, LX)
X+ 1, » Xn)
X, = X,

7.2
B>



solver

3.1 1
solver < 6>
n=5 m=1
i 1 2 3 4 5
r 0.70 0.85 0.75 0.80 0.90
C 1 2 3 2 3 1
5
Z ciX; <20
1= 1
Xx;=>1,i=1,2,3,4,5.
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Rs (X) = Ri(X1)Rp(X2)Q3(X35)Qs(Xs)
+ Qi (X1)R5 (X3)R4 (X4) Qs (Xs5)
+ [Ry (X1)R3(X3) + (R (X3)Rs(Xs)
+ Rs (X5)R1(X1) - 2R (X1)R3(X3)Rs5(X5)]

X[Ry (X2)+ Ry(Xq) - Ry(X2)R4(X4)]
Ri(x;) = (1- (1- r))™) Qi(x;) = 1- Ri(x;)
X

20' (3X2 + 2X3 + 3X4 + X5)

X, < 5
20' (2X1+ 2X3 + 3X4 + X5)
X, <
3
20' (2X1+ 3X2 + 3X4 + X5)
X5 <
2
20' (2X1+ 3X2 + 2X3 + X5)
X5 <
3
X5£ 20' (2X1+ 3X2+ 2X3 + 3X4)

X1£6,X,<4,X356,X,<4,%X5;< 10 X

16bit
pop_size = 10
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X; = [1010010010010001]
X, = [0010010110010001]
X; = [1111111110111101]
X, = [0111011111111001]
Xs = [1111110110110011]
Xe¢ = [1110110111011011]
X, = [0011111111111001]
Xg = [0010010010010011]
Xg = [0011111111110001]
X1 = [0111011011110101]
(fitness)
penalty

Rs (Xi) - X
eval (x;) =
Rs(x;)- 0.9 :x;

eval(x,) =
eval(x,) =
eval(x,) =
eval(x,) =
eval(x;) =
eval(x,) =

eval(x;) =

X

Rs(x,) = 0.966387
Rs(X,) = 0.960302
Re(X;)- 0.9= 0.1
Rs(X,)- 0.9 = 0.099998
Rs(Xs)- 0.9 = 0.099997
Rs(Xg)- 0.9 = 0.099995

R<(X;)- 0.9 = 0.099982
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eval(xg) = Rg(xg)- 0.9 = 0.897191
eval(Xg) = Rg(Xg)- 0.9 = 0.099981

(fitness)

< 4>

fi

string no. Initial population x value Rg(X) SY

f

actual count

1. [1010010010010001] (3,1,1,1,1) 0966387 0.27 2.74 3
2. [0010010110010001] (1,1,3,1,1) 0960302 027 274 3
3. [1111111110121207] (7,7,7,3,23) 0.100000 0.03 0.28 1
4. [0111011111111001] (3,5,7,7,9) 0.099998 0.03 0.28 0
5. [1111110110110011] (7,7,3,33) 0.099997 0.03 0.28 0
6. [1110110111011011] (7,3,3)5,11) 0.099995 0.03 0.28 0
7. [0111111111211001] (,7,7,79) 0.099982 003 0.28 0
8. [0010010010010011] (1,1,1,1,3) 0897191 025 255 3
9. [0011111111110001] (1,7,7,7,1) 0.099981 0.03 0.28 0
10.[0111011011110101] (355,7,5) 0.099974 003 0.28 0
Sum 3.523870 10 100
Average 0.352381 0.1 10
M ax 0.966387 027 274
< 4>

< 4> actual count (population)

27  step-4. step- 5.

(population) < 5>
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(randomly selected)

string no. Mate crossover site New population Rs(Xx)
1. [1010010010010001] 4 8 [1010010010010001] 0.966387
2. [1010010010010001] 7 7 [1010010110111101] 0.098762
3. [1010010010010001] 9 2 [1010010010010011] 0.969380
4. [0010010110010001] 1 8 [0010010110010001] 0.960302
5. [0010010110010001] 8 1 [0010010010010011] 0897191
6. [0010010110010001] 10 10 [0010010110010011] 0.965402
7. [1111111110111101] 2 7 [1111111010010001] 0.099995
8. [0010010010010011] 5 [0010010110010001] 0.960302
9. [0010010010010011] 3 [0010010010010001] 0.891312
10. [0010010010010011] 6 10 [0010010010010001] 0.891312
Sum 7.700346
Avg 0.770035
M ax 0.969380
< 5>
100 27 step-7. SA 1000
< 6>
global x = (3,2,2,1,1), Rg(x )=

0.993216 10 9

1 GA - step 8 27 step-7. SA

- 29 -



GA

(X¢)

(x)

1 0.965402 0.993216

2 0.963420 0.993216

3 0.897250 0.968858

4 0.919844 0.993216

5 0.968957 0.993216

6 0.963420 0.993216

7 0.921133 0.993216

8 0.968957 0.993216

9 0.993216 0.993216

10 0.924330 0.993216

< 6>
n=4 m= 2

i 1 2 3 4
r 0.80 0.75 0.70 0.65
Cy 6 4 3 2
C yi 9 4 4 3

- 30 -




1
IN ouT
o 3 —@®
2
4
4
Zlcl,xi < 30
| =
4
Z:lcz,xi <40
| =
X;=>1, Jd=1,2,3,4.
Rs(X) = Ri(X1)+ Qu(X1)R2(X2)R4(X4)
+ Qp (X1)R2(X2)R3(X3) Qaeu4)
X 12bit pop
_size = 10 (population)
X; (fitness) actual count < 7>
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f. f.
string no. Initial population x value Rg(X) Elf_ TI actual count

1. [001011011001] (13,3,1) 0995015 0.19 18 2
2. [001011001011] (13,1,3) 0994343 0.19 18 2
3. [001001011101] (1,1,35) 0949979 0.18 178 2
4. [011101011117] (35,3,7) 0099992 002 019 O
5. [001001101001] (1,15,1) 0949872 0.18 178 2
6. [111001101111] (715,79 0099997 0.02 019 O
7. [001001001011] (1,1,1,3) 0948071 0.18 178 2
8. [111001001001] (7,,1,1) 0099996 0.02 019 O
9. [1110011011117] (7,415,790 0099997 0.02 019 O
10. [011111001011] (37,4,3) 0099897 002 019 O
Sum 5337159 10 100
Avg 0533716 0.1 10
M ax 0995015 0.19 186
< 7>
< 7> actual count (population)
27  step-4. step- 5.

(population) < 8>
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(randomly selected)

string no. Mate crossover site New population Rs(X)
1. [001011011001] 10 8 [0010110110117] 0.096647
2. [001011011001] 3 2 [001011001011] 0.994343
3. [001011001011] 2 2 [0010110110071] 0.995015
4. [011011001011] 8 7 [0010110010071] 0.976203
5. [001001011101] 9 9 [001001011011] 0.949826
6. [001001011101] 7 5 [001001101007] 0.949872
7. [001001101001] 6 5 [001001011107] 0.949979
8. [001001101001] 4 7 [001001101011] 0.049984
9. [001001001011] 5 9 [001001001107] 0.949764
10. [001001001017] 1 8 [001001001001] 0.934250
Sum 7.845883
Avg 0.784588
M ax 0.995015
< 8>
100 27  step-7. SA 1000
< o>
global x = (3,1,1,1), Rg(x' ) = 0.997370
10 8
8 GA -step , 2

SA - step
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GA

(X¢)

(x)

1 0.997370 0.997370
2 0.997370 0.997370
3 0.997370 0.997370
4 0.994343 0.995989
5 0.997370 0.997370
6 0.997370 0.997370
7 0.976203 0.992943
8 0.997370 0.997370
9 0.997370 0.997370
10 0.997370 0.997370
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’ ’

Web- site solver . solver

’ ’ ’

4 Web- site .
, (Hybrid-Heuristic algorithm)

(local optimum) 1 GA

(Genetic Algorithm) , (reoptimization
procedure) SA (Simulated Annealing)
solver ,
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PHP

<HTM_> name='node"' size=3
<HEAD> max|ength=5></td>
<TITLE> </tr>
</TITLE> </ TABLE><BR>
</ HEAD> <TABLE><BR>
<BY bgcol or ="#2B4A577" text="white" <input type='submit'
[ink="white" vlink="white" nane="submit ' value=' ">
al ink="white"> <input type='hidden’
<?php name='node ' value="input1'>
include "./connect.inc"; <input type='hidden'
i f($mode=="1") nane='network ' value="$network '>
{ <input type='hidden’
$data = explode("=", $network); nane='usernane' value="'$user nane'>
$network = $data[0] ; </ TABLE>
$usernane = $data[l];
echo(" </ CENTER>
<FQRM narre="form' </ FCQRW
method="post ' action="$PHP_SELF'> "y,
<CENTER><BR> }
<TABLE border="'0" width="80%> if($node == "inputl')
<tr> {
<td> echo(" <FCRM nane="form'
method="post ' action="$PHP_SELF'>
(n) . <CENTER><BR>
</td> <TABLE border='0" wi dth="80% >
</ tr><BR> <tr>
<tr><td height=30> &nbsp; <td>
</[td></tr> </td>
<tr> </tr><br>
<td>n = <input type="text' </tabl e><br>

- 37 -



<table border="1" width="80% >
<tr>
")
for ($i =1; $i <=$node; $i ++) {
echo("<td>$i</td>")
}
echo("</tr>");
echo("<tr>");
for ($i =1; $i <=$node; $i ++) {
echo("<td> <input type='text'
nane='r [$i] "' size=3 nmaxlength=5>

</td>");
}
echo("
</ TABLE>
<TABLE><BR>
<input type='submit'
name='submit' value=" ">

<input type='hidden'
name='node' value="input2'>

<input type='hidden'
nane='node' value="'$node'>

<input type='hidden'
nane='network ' value="'$network'>

<input type='hidden'
nane='usernane' val ue="'$user nane'>

</ TABLE>

</ CENTER>
</ FCRV>

if($mode == 'input2')
{
echo(" <FCRM nane="form'

method="post ' action="$PHP_SELF'>

<CENTER><BR>

<TABLE border="0" wi dth="80% >

<tr>
<td>
(m)

</td>
</ tr><br>
<tr><td height="30"> &nbsp;
</td></tr>
<tr>
<td>m = <input type='text'
name='m' size=3
nmax | ength=5></td>
</tr>
</ TABLE><BR>
<TABLE><BR>
<input type='submit'
nane="submit ' value=' ">
<input type='hidden’
name='node' value="input3'>
<input type='hidden’
nane='network ' value="$network '>
<input type='hidden’
nane='usernane' value="'$user nane'>
<input type='hidden'
name='node"' val ue="'$node '>
")
for ($i=1;$i <=$node; $i ++) {
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echo("<input type='hidden'
nane='r [$i] "' value="$r[$i] '>");
}
echo("
</ TABLE>
</ CENTER>
</FARW
")
}
i f($mode == 'input3"')
{
echo(" <FQRM nare="form'
method="post ' action="$PHP_SELF'>
<CENTER><BR>
<table border="'0"
wi dth="80% >
<tr>
<td align='center '>
.</td>
</tr>
</tabl e><br>
<TABLE border="1" width="80% >
")
for ($i =1, $p=1, Scount=1;$i <= ($mtl)
; $i+) {
echo("<tr>");
if($i=="1"){
echo("<td> &bsp; </td>")
for ($j =1;$j <=$node; $j ++) {
echo("<td> $j </td>");
}
echo("<td> RH </td>");
echo("</tr>");

} else {
echo("<tr>");
echo("<td>
$p++;
for ($j =1;%j <=$node+1; $j ++) {

echo("<td> <input type='text'

$p </td>");

nane='c[$count] "' size=3
max | ength=5> </td>");
$count ++;

}

echo("</tr>");

echo("

</ TABLE>

<TABLE><BR>

<input type='submit'
nane="submit ' value=' ">

<input type='hidden’
name='node ' value="input4'>

<input type='hidden’
name='node"' val ue='$node '>

<input type='hidden' name='m
value="$m'>

<input type='hidden'
nane='network ' value="$network '>

<input type='hidden'
nane='count ' value="$count '>

<input type='hidden’
nane='usernane' value="'$user nane'>

")
for ($i=1;$i <=$node; $i ++) {
echo("<input type="hidden'
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name="r [$i]" value="$r [$i]"'>");

}
/*
for ($i=1;$i <$count ; $i ++) {
echo("<input type='hidden'
nane='c[$i]"
value="$c[$i] '>");
}
*/
echo("
</ TABLE>
</ CENTER>
</ FORW>
")
}
i f($node == 'inputd')
{
echo("
<CENTER>

<table width="80% ><tr><td
align="center '>
")
i f($network == 1) {
$networkl = " ;
} else {
$networkl = " ;
}
echo(" $networkl");
echo("

</td></tr></table>
</ CENTER>

<BR><BR>
<CENTER>
<TABLE wi dth="80% border="1">
<tr>
<td> &nbsp; </td>
")

for ($i=1;%i <=$node;$i ++)
echo("<td> $i </td>");

echo("<td> RHS </td></tr><tr>");

echo("<td> </td>")

for ($i=1;$i <=$node; $i ++)
echo("<td> $r [$i] </td>");

echo("<td> &nbsp; </td></tr>");

for ($i =1, $pos=1, $step=$node, $step1=1;$
i <=$m $i ++){

echo("<tr>");

echo("<td> $i </td>");
for ($ =$pos; $j <=($step+$stepl);$ ++ $p
os++) {

echo("<td> $c[$j] </td> ");

}

echo("</tr>");

$step = P$step+Snode;

P$stepl++;

}

$que=" insert into systemdatal
values('"', '$usernane’, '$network ', '$nod
e', '$edges’, '$m', '$r{1] "', '$r{2]", '$r[3
1%, '$r[4]", '$r[5]", '$r[6]", Br[7]",
'$r[8]"','$r[9]", '$r[10]", 'Sr[11]", '$r



121", '$r[13] "', '$r[14] ", '$r[15] ", '$r[16
1%, '$r[17] ", "$r[28] ", "$r[19] "', "$r[20]"
,$r[21] ", '$r[22] ", '$r[23] ", '$r{24],"
$r[25]", '$r[26] ", '$r[27]", "$r[28] ", '$r
[29] ', '$r[30] ', "$c[1] ', '$c[2] ', "$c[3]"
,'$c[4] ", '$c[5] ', '$c[6] ', '$c[7] ", '$c[8
1','$c[9] ", '$c[10]", '$c[11] ', '$c[12]",
'$c[13] ", '$c[14] ', "$c[15] ', "$c[16] ', 'S
c[17] ', '$c[18] ', '$c[19] ', '$c[20] ', "$c|
21] ', '$c[22] ', '$c[23] ', '$c[24] ', '$c[25
1", '$c[26] ', '$c[27] ', '$c[28] ', '$c[29] '
, '$c[30] ', '$e[1] ', '$e[2] ', '$e[3] ', '$e[
41", '$e[5] ', '$e[6] ', '$e[7] "', '$e[8] ', 'S
e[9] ', '$e[10] ', "$e[11] ', '$e[12] ', '$e[1
3], '$e[14] ", '$e[15] ', '$e[16] ', '$e[17]
', '$e[18] ', '$e[19] ', '$e[20] ', 'Se[21] ',
‘$e[22] ', '$e[23] ', '$e[24] ', 'Pe[25] ', 'S
e[26] ', '$e[27] ', '$e[28] ', "$e[29] ', "$e[
30])";
$resul t =nysql _query ($que, $Sconnect );
if($result)
{
}
el se
{ echo(" <script>
window. alert ('DB
1)
history.go(-1)
</script>
")
exit;
}

echo("

</center>
</table>
<center ><br>
<table width="30% >
<tr>
<td><a
href ="$PHP_SH F?node=end&user nane=3use

rnane">| |</a>
<Jtd> ");
$tenp .= $usernare;
$tenp .= '=';
$tenp .= network;
$tenp .= '=';
$tenp .= $node;
$tenp .= '=';
$tenp .= $m
for ($i =1;$i <=$node; $i ++){
$tenp .= '=';
Stenp .= $r [$i];
}
for ($i =1;$i <=($node* $mrdm) ; $i ++){
$tenp .= '=';
$tenp .= $c[S$i];
}
echo("
<td><a

href="$PHP_SEL F?node=edi t 1& enp=$tenp
>| |</a>
</td>
</[tr>
</table>
</center>
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} <tr><td height="30"> &nbsp;

i f ($rmode=="end") </td></tr>

{ <tr>
echo("<cent er ><br ><f ont <td align="center '># of

color="red"'>"); edges = <input type='text'
echo("$usernane"); name='edges' size=3
echo("</font> max| ength=5></td></tr><tr>

<br> <td align="center '># of
nodes = <input type='text'
<br>"); nane='node' size=3
echo(" max | ength=5></td>
<br> </tr>
e-nai | </ TABLE><BR>
.</center>"); <TABLE><BR>
<input type='submit'

} name="'submt ' value=' '>

i f($rmode=="2") <input type='hidden'

{ name='node"' val ue="conplex1'>
$data = explode("=", $network); <input type='hidden’
$network = $data[O0] ; nane='network ' value="$network '>
Susernarme = $data[l]; <input type='hidden'
echo(" nane='usernane' value="'$user nane'>

<FCQRM narre="form' </ TABLE>

method="post ' action="$PHP_SELF'> </ CENTER>

<CENTER><BR> </ FCRVP
<TABLE border="0" wi dth="80% > ");
<tr> }
<td align="center '> i f($mode == 'conplexl1')
{
(n) (edges) echo(" <FCRM nane="form'
. method="post ' action="$PHP_SHLF'>
</td> <CENTER><BR>
</tr> <TABLE border="0" wi dth="80% >
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<tr> echo("

<td> </ TABLE>
Incidence nmatrix <TABLE><BR>
<input type='submit'
( ) name="'submt ' value=' '>
</td> <input type='hidden'
</tr> nane='node"' value="conplex2'>
</ TABLE><BR> <input type='hidden'
<table border="1" width='80%> name='node' val ue="'$node"'>
"); <input type='hidden'
nane='edges' value='$edges'>
for ($i=1, $p=1, Scount =1; $i <=$node+1;$i + <input type='hidden'
+) { nane='network ' value="$network '>
echo("<tr>"); <input type='hidden’
if($i=="1"){ nane='usernane' value="'$user nane'>
echo("<td> &nbsp; </td>"); ");
for ($j =1;$j <=$node;$j ++) { echo("
echo("<td> $§j </td>"); </ TABLE>
}
echo("</tr>"); </ CENTER>
} else { </ FCQRW
echo("<tr>"); "Y;
echo("<td> $p </td>"); echo(" <center>
$p++; exanpl e )<br>
for ($j =1;$j <=$node; $j ++) { <ing src='./inmages/ex1.jpg'>
echo("<td> <input type='text' </center>
nane='e[$count] ' size=3 ");
max| ength=5> </td>"); }
$Scount ++; i f($node == 'conplex2")
} {
echo("</tr>"); echo(" <FCRM nane="form'
} method="post ' action="$PHP_SELF'>
} <CENTER><BR>



<TABLE border="0" width="80% >
<tr>
<td>
</td>
</tr>
</tabl e><br>
<table border="1" width="80% >
<tr>
")
for ($i =1; $i <=$node; $i ++) {
echo("<td>$i</td>")
}
echo("</tr>");
echo("<tr>");
for ($i =1; $i <=$node; $i ++) {
echo("<td> <input type='text'
nane="r [$i] "' size=3 naxlength=5>

</td>");
}
echo("
</ TABLE>
<TABLE><BR>
<input type='submit'
name='submit' value=' ">

<input type='hidden'
name='node ' value="conplex3'>
<input type='hidden'
nane='node' value="'$node'>
<input type='hidden'
nane='edges' val ue="%edges'>
<input type='hidden'
nane='network ' value="'$network'>
<input type='hidden'

nane='usernane' value='$usernane'>

");

for ($i =1;$i <=($node*$node) ; $i ++) {
echo("<input type='hidden'
name='e[$i]" value="$e[$i]'>");
}
echo("
</ TABLE>

</ CENTER>
</FARW
")
}
i f($node == 'conplex3")
{
echo(" <FCRM nane="form'
method="post ' action="$PHP_SHLF'>
<CENTER><BR>
<TABLE border="0" wi dth="80% >
<tr>
<td>
(m)

</td>
</tr>
<tr><td height="30"> &nbsp;
</td></tr>
<tr>
<td>m = <input type="text'
name='m' size=3
nmax | ength=5></td>
</tr>

- 44 -



");

echo("
</ TABLE>
<TABLE><BR>
<input type='submit'
name='submit' value=' ">

<input type='hidden'
name='node ' value="conplex4'>
<input type='hidden'
nane='node' value="'$node'>
<input type='hidden'
nane='edges' val ue="%edges'>
<input type='hidden'

nane='network ' value='$network'>

<input type='hidden'

nane='usernane' value="'$user nane'>

");

for ($i=1;$i <=($node*$node) ; $i ++) {
echo("<input type='hidden’

nane='e[$i] "' value="$e[$i] '>");

}

for ($i =1; $i <=$node; $i ++) {
echo("<input type="hidden'

nane='r [$i]"' value="$r [$i] '>");

}
echo("
</ TABLE>
</ CENTER>
</FARW
II);

i f($node == 'conplex4')
{
echo(" <FCRM nane="form'
method="post ' action="$PHP_SHLF'>
<CENTER><BR>
<table border="'0"
wi dt h="80% >
<tr>
<td align='center '>
.</td>
</tr>
</table><br>
<TABLE border="1" width="80% >

")
for ($i=1,$p=1,%count=1;$i <= ($m+l)
; $i+) {
echo("<tr>");
if(Si="1"){

echo("<td> &nbsp; </td>");

for ($j =1;$j <=$node;$§ ++) {
echo("<td> § </td>");

}

echo("<td> RSH </td>")

echo("</tr>");

} else {

echo("<tr>");

echo("<td> $p </td>");

Sp++;

for ($j =1;%j <=$node+1; $j ++) {
echo("<td> <input type='text'

nane='c[$count] "' size=3
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max| ength=5> </td>"); }

$count ++; echo("
} </ TABLE>
echo("</tr>");
} </ CENTER>
} </ FCQRW®
echo(" "Y;
</ TABLE> }
<TABLE><BR> i f($node == 'conplex5")
<input type='submt' {
name="subnmit "' value=' '> echo("
<input type='hidden' <CENTER>
name='node ' value="conplex5'>
<input type='hidden' <table width="80% ><tr><td>
nane='node' value="'$node'> ");
<input type='hidden'
nane='edges' value="'$edges'> $networkl =" "
<input type='hidden' name='m
value="$m'> echo(" $networkl");
<input type='hidden' echo("
nane='network ' value="'$network'> :
<input type='hidden' </[td></tr></table>
nane='usernane' val ue="'$user nane'> </ CENTER>
") <BR>
<CENTER>
<TABLE wi dth="80% border="'1">
for ($i=1;$i <=($node*$node) ; $i ++) { <tr>
echo("<input type='hidden' <td> &nbsp; </td>
nane='e[$i] "' value="$e[$i] '>"); "y,
}
for ($i =1; $i <=$node; $i ++) { for ($i=1;$i <=$node; $i ++)
echo("<input type='hidden' echo("<td> $i </td>");
nane="r [$i] "' value="%r [$i] '>"); echo("<td> RHS </td></tr><tr>");
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echo("<td> </td>");

for ($i =1;$i <=$node; $i ++)
echo("<td> $r [$i] </td>");

echo("<td> &nbsp; </td></tr>");

for ($i =1, $pos=1, $st ep=$node, $step1=1;$
i <=$m $i ++){
echo("<tr>");
echo("<td> $i </td>"):
for ($j =$pos; $j <=($step+$stepl);$j ++ $p
os++) {
echo("<td> $c[$j] </td>");
}
echo("</tr>");
$step = $step+$node;
Pstepl++;
}
echo(" </center>
</table> ");

echo(" <center><br>
<TABLE border="0" width="80% >
<tr>
<td>
Incidence natrix.
</td>
</tr>
</ TABLE><br >
<table border="1" width="80% >

");

for ($i =1, $p=1, Scount =1; $i <=$node+1; $i +
+) {
echo("<tr>");
if($i=="1"){
echo("<td> &nbsp; </td>");
for ($j =1;%j <=$node;$j ++) {
echo("<td> § </td>");
}
echo("</tr>");
} else {
echo("<tr>");
echo("<td> $p </td>")
Sp++;

for ($ =$count ;$j <=($node+$count-1);$j +
+) {
echo("<td> $e[$j] </td>")
}
$count =$count +$node;
echo("</tr>");
}
}

$que=" insert into systemdatal

values('"', '$usernane’, '$network ', '$nod
e', '$edges’, '$m', '$r(1] "', '$r[2]", '$r[3
1Y, '$r[4]", "$r[5]", '$r[6]", '$r(7]", $r
[8] ", '$r[9]", '$r[10] ', "$r[11] ", '$r [12]
YUSr[13] Y, '$r[14] ', '$r[15] ", 'Sr[16] ",
"$r[17]", "$r[18] ", "$r[29] ", '$r[20]","'$
r[21] ', '$r[22] ', "$r[23] ", '$r[24] ", '$r [
25] "', '$r(26]",'$r[27]", '$r[28]", '$r[29
1%, '$r[30]", '$c[1] ", '$c[2] "', '$c[3]"','$
c[4] ', '$c[5] ", '$c[6] ", '$c[7]", '$c[8] ',
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'$c[9] ', "$c[10] ", '$c[11] ', "$c[12] ", "$C
[13] ', '$c[14] ', '$c[15] ', '$c[16] ', '$c[1
7], '$c[18] ', '$c[19] ', '$c[20] ', '$c[21]
', '$c[22] ', '$c[23] ', '$c[24] ', '$c[25] ',
'$c[26] ', '$c[27] ', '$c[28] ', '$c[29] ', '$
c[30] ', '$e[1] ', '$e[2] ', '$e[3] ', 'Se[4]"
, '$e[5] ', '$e[6] ', '$e[7] ', '$e[8] ', '$e[9
1", '$e[10] ', '$e[11] ', '$e[12] ', '$e[13] "
,'$e[14] ', '$e[15] ', '$e[16] ', '$e[17] ', "
$e[18] ', '$e[19] ', '$e[20] ', '$e[21] ', '$e
[22] ', '$e[23] ', '$e[24] ', '$e[25] ', '$e[2
6], '$e[27] ", '$e[28] ', '$e[29] ', '$e[30]
DA
$resul t =nysql _query ($que, $connect );
if($result)
{
}
el se
{ echo(" <script>
window. alert ('DB
")
history.go(-1)
</script>
")
exit;
}

echo(" </center>
</table>
<center ><r>
<table width="30% >
<tr>
<td><a

href ='$PHP_SH F?node=end&user nane=$use

rnane"'>| |</a>
<td>");
$tenp .= $usernare;
$tenp .= '=';
$tenp .= network;
$tenp .= '=';
$tenp .= $node;
$tenp .= '=';
$tenp .= $edges;
$tenp .= '=';
$tenp .= $m
for ($i =1;$i <=$node; $i ++){
$tenp .= '=';
$tenp .= $r [$i];
}
for ($i =1;$i <=($node* $mrdm) ; $i ++){
$tenp .= '=';
$tenp .= $c[S$i];
}
for ($i =1;$i <=($node*$node) ; $i ++){
$tenp .= '=';
Stenp .= $e[Si];
}
echo("
<td><a
href="$PHP_SEL F?node=edi t 2&t enp=$tenp
>| |</a>
</td>
</tr>
</table>
</center>
")
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}

if( $node == 'edit2")

{
$data = explode("=",$tenp);
$usernane = $data[0] ;

$network = $data[1] ;
$node = $data[2];
$edges = $data[3];
$m = $data[4] ;

for ($i=5, §j =1;$i <=(4+$node) ; $i ++, §j ++)
{
$r[$ ] = $data[$i];
}
for ($k=(5+$node), $h=0,$j =1; $h<®m ;
$h++){
for ($i =3k ; $i <=($k+Snode) ; $i ++) {
$c[$j] = Sdata[$i];
$j ++;
}
$k=$k +$node+1;

for ($h=1, $k=(5+$node+($node* mrdm) ), $
=1;$h<=$node; $h++){
for ($i =3k ; $i <=($k+Snode) ; $i ++) {
$e[$] = Sdata[$i];
$j ++;
}
$k=$k +$node+1;
}
$que="delete from systemdatal where
nane="'$usernane' and

systen¥'$network '";
$resul t =nysqgl_query ($que, $connect );
if($result)
{
}

else
{ echo(" <script>
window. al ert ('DB
1)
history.go(-1)
</script>
II);
exit;
}
echo("
<(ENTER>

<table width="80%><tr><td
align='center '>
II);

$networkl = "

echo(" $networkl");
echo("

</td></tr></table>

</ CENTER>

<BR><BR>

<formname="'form
method="post ' action="$PHP_SELF'>

<CENTER>

<TABLE width="'80% border="1"'>
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<tr>
<td> &nbsp; </td>
")
for ($i =1;$i <=$node; $i ++)
echo("<td> $i </td>")
echo("<td> RHS </td></tr><tr>");
echo("<td> </td>");
for ($i =1;$i <=$node; $i ++)
echo("<td><input type='text
nane='r [$i] "' size=3 naxlength=5
value="$r [$i] '> </td>")
echo("<td> &nbsp; </td></tr>");

for ($i=1, $pos=1, $st ep=$node, $step1=1;$
i <=$m $i ++){
echo("<tr>");
echo("<td> $i </td>");
for ($j =Ppos;$j <=($step+Sstepl);$j ++ Bp
os++) {
echo("<td><input type='text'
nane='c[$j ] "' size=3 naxlength=5
value="$c[$ ] '> </td> ");
}
echo("</tr>");
$step = $step+$node;
$stepl++;
}
echo(" </center>
</table>");
echo(" <center><br>
<TABLE border="0" wi dth="80% >
<tr>

<td>
Incidence matrix.
</td>
</tr>
</ TABLE><Dbr >
<table border="1" width="80% >

");

for ($i =1, $p=1, $count =1; $i <=$node+1; $i +
+) {
echo("<tr>");
if($i="1"){
echo("<td> &nbsp; </td>");
for ($j =1;%j <=$node;$j ++) {
echo("<td> § </td>");
}
echo("</tr>");
} else {
echo("<tr>");
echo("<td> $p </td>")
$p++;

for ($j =$count ;$j <=($node+$count-1);%j +
+) {
echo("<td><input type="text'
nane='e[$j ] ' size=3 nmaxlength=5
value="$e[$j ] '> </td>");

}

$count =$count +$node;

echo("</tr>");

echo("
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</ TABLE> $r($] = $data[$i];

<TABLE><BR> }
<input type='subnit ' for ($k=(4+$node), $h=0, $j =1; $h<dm ;
nane='submit ' value=' "> $h++){
<input type='hidden’ for ($i =%k ; $i <=($k +$node+$h) ; $i ++)
name='node "' value="conplex5'> {
<input type='hidden’ $c[$j] = $data[$i];
name='node"' value='$node"'> $j ++;
<input type='hidden' }
nane='edges' value="'$edges'> Sk=$k +$node+1;
<input type='hidden' name='m }
value="$m'> $que="del ete from system datal where
<input type='hidden' nane="$usernane' and
nane='network ' value="'$network'> systen¥'$network '";
<input type='hidden’ $resul t =nysqgl_query ($que, $connect );
nane='usernane' val ue="'$user nane'> if($result)
") {
echo(" }
</ TABLE> else
</ CENTER> { echo(" <script>
</ FQRV> window. al ert ('DB
"); )
} history.go(-1)
if( $nmode == 'editl") </script>
{ ")
$data = explode("=",$tenp); exit;
$usernane = $data[0] ; }
$network = $data[1]; echo("
$node = $data[2]; <CENTER>
$m = $data[3] ; <table width="80%><tr><td
align="center '>
for ($i=4,$j =1;$i <=(3+$node) ; $i ++, §j ++) ");

{
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i f($network == 1) { os++) {

Snetworkl =" " echo("<td><input type='text'
} else { nane='c[$j ] ' size=3 maxlength=5
Snetworkl =" " value="$c[$ ] '> </td> ");
} }
echo(" $networkl"); echo("</tr>");
echo(" $step = Pstep+$node;
: Sstepl++;
</td></tr></table> }
</ CENTER> echo("
<BR><BR> </ TABLE>
<form name="'form <TABLE><BR>
method="post ' action="$PHP_SELF'> <input type='submt'
<CENTER> nane="submit ' value=' ">
<TABLE width="80% border="1"'> <input type='hidden’
<tr> name='node ' value="input4'>
<td> &nbsp; </td> <input type='hidden’
"); name='node"' val ue='$node '>
for ($i =1; $i <=$node; $i ++) <input type='hidden' nane='m
echo("<td> $i </td>"); value="$m'>
echo("<td> RHS </td></tr><tr>"); <input type='hidden'
echo("<td> </[td>"); nane='network ' value="'$network '>
for ($i =1; $i <=$node; $i ++) <input type='hidden'
echo("<td><input type="text' nane='usernane' value="'$user nane'>
nane='r [$i] ' size=3 naxlength=5 ");
value="$r [$i] "> </td>"); echo("
echo("<td> &nbsp; </td></tr>"); </ TABLE>
for ($i=1, $pos=1, $step=3node, $stepl1=1;$ </ (ENTER>
i <=$m $i ++){ </ FQRW
echo("<tr>"); "Y;
echo("<td> $i </td>"); }

for ($j =Ppos;$j <=($step+Sstepl);$j ++,$p 2>
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/*
* genetic.h
*/

#include <stdio.h>

#include <stdlib.h>

#include <nath. h>

#define TRE 1

#define FALSE O

/* */

#define PCP 100

/* node */

#define VAR 15

/* digit */

#define DQAT 45

/* */

#define M2

#i fndef EXTERN

#define EXTERN extern

#endi f

typedef struct {
int binary[DQAT];
int decinal [VAR ;
int actual _count ;
float fitness;
float expected_count ;
} DATA;

EXTERN DATA popul at i on[PCP] ;

EXTERN DATA Tenp[PCP] ;

EXTERN float Max_val ue;

EXTERN int RN;

EXTERN int Re_pop;

EXTERN int C[M [VAR] ;

EXTERN int RHS[M ;

EXTERN float R[VAR ;
EXTERN int BIT[VAR ;
/*
* main.c
*/
#define EXTERN
#include "genetic.h"
int nain(int argc, char *argv[])
{
int i;
if(arge <2 ) {
printf("Type the nunber of
generation \n");
printf(" EX) #./genetic 100
\n");
exit(0);

RN = atoi (argv[1]);
printf("# of A Step

%I\ n",RN);
Read data();
Re_pop = -1;
while( Re_pop == -1){
Initial_pop();

}

for (i=0;i<RWN;i++) {
Repr oduct i on(i +1);
Q ossover ();

i f (Finish_check()==TRE) {
printf("Finish check
true\n");
printf("**

53 -



**\n\n");
printf("[ ");
for (i=0; i<VAR; i+t)

printf ("%l

population[0].decinal [i]);
printf("]\t F(X) %

popul ation[0].fitness);
Reoptina();

\n",

printf ("\n\n***SA

***\n\n");
printf("[ ");
for (i=0; i<VAR; i+t)
printf ("%l
population[0].decinal [i]);
printf("]\t F(X) %
popul ation[0].fitness);
exit(0);

\n",

printf("\n**
**\n\n");
printf("[ ");
for (i=0; i<VAR; i+t)
printf ("%l
population[0].decinal [i]);
printf("]\t F(X) %
popul ation[0].fitness);

\n",

Reoptina();
printf("\n\n***SA

***\n\n");
printf("[ *);
for (i=0; i<VAR; i+t)
printf ("%l

population[0].decinal [i]);
printf("]\t F(X) %
population[0].fitness);

\n",

return O;
}
/*
* Ccrossover.c
*/

#include "genetic.h"
void G ossover ()

{
int mate[100],k1,k2,i,j,state,v,insi,k;

for (i=0;i<PaP;i ++)
nate[i]=1;
k1=rand()%P;
k2=r and( )9CP;
i f(k1=k2)
k2=(k2+1)9%6CP;
nate[k1] =2;
nate[k2] =k1;
state=1;
i=0;
whi l e(state<(PaP/ 2)) {
vhile(1) {
if(mate[i]
break;

1)
i ++;

}

k1=r and()9%PCP;

vhile(1) {

if((mate[kl]=1)&&(k1!=i))
break;

else
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k1=(++1)%CP;

nmate[i]=k1;
nate[kl]=i ;
state++;

}
for (v=0;v < PCP;v++)
if(nate[v] !=-1) {
k=rand()YDIGAT;
for(j=;j < DAT;j+) {

insi=population[v].binary[j];

population[v].binary[j ]=popul ation[nate[v
11.binary[j];

popul ation[nate[v]].binary[j]=insi;

}
nate[mate[v]]=1;
nate[v]=1;

}
}
/*
* finish_check.c
*/

#include "genetic.h"
int Finish_check()

{
int i,j,x[VAR],xx[VAR;

for (i =0; i <VAR;i +t+)
x[i]=population[0].decinal [i];
for (i=1;i < PQP;i++)
for (j =0;] <VAR;] ++){
if(x[1 =

population[i].decimal [j])

continue;
else
return FALSE;
}
return TRE;
}
/*
* function_value.c
*/

#include "genetic.h"
void Function value( int i )
{
float x1[VAR],tnhp2;
float f=1.0,y[VAR];
int tnp[M,j,x[VAR],k,flag ;
for (j =0;] <VAR}] ++) {

x1[j 1=(fl oat )population[i].decinal [j];
x[j] = population[i].decinal [j];
}

for (j =0;j VAR, j ++)
y[j 17pow(1.0-R[j ],x1[j 1);

for (j =0;j <VAR}j ++)
f*=(1-y[j1);

for (j =0;j <Mj +){
tnp[j ]=0;
for (k=0;k<VAR;k++)
tnp[j 1+=C[j ] [k]*x[K];

flag=0;
for (j 0j <Mj +)
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if(tmp[j] <= RE[j]) popul ation[i].decinal [j ]=0;

flag++; }
if(flag =M for (i=0;i<PaP;i ++)
population[i].fitness = f;
else { for (j =0,pos1=0, pos2=-1;j VAR;j ++){
tnp2=f-0.5; power =1;
if(tnp2 < 0.0) pos1+=BIT[j ] ;
population[i].fitness = for (k=pos1- 1;k>pos2;k-- ){
(tnp2*-1);
else popul ation[i].decinal [j ] +popul ation[i].bi
population[i].fitness = tnp2; nary[K] *power ;
} power *=2;
} }
/* pos2+=BI T[j ] ;
* initial_pop.c }
*/
#include "genetic.h" for (i=0;i< PQP;i +t)
#include <sys/types. h> Function_value(i);
void Initial_pop() for (i=0;i<PaP;i ++)
{ sum += population[i].fitness;
int i,j,itl,it2,insi=0,power,k,posl,pos2;
float sun¥0.0; if( sum> (0.2*PCP))
Re_pop = 1,
srand((unsigned int)tine((tine_t Max_val ue=0.0;
*INALL));
}
for (j=0;j < PP; j++) I*
for (k=0;k < DAT;k++) * read data.c
*/
population[j].binary[k]=rand()%2; #include "genetic.h"
void Read_data()
for (i=0;i<PCP; i+t) {
for (j =0, pos1=0;j <VAR;j ++){ int Ctnp[M[VAR]={{5,4,9,7,7,5,6,9,
pos1+=BIT[j ]; 4,5,6,7,9,8,6},{8,9,6,7,8,8,9,6,7,8,9,7,6,
5,71},
popul ation[i].binary[posl-1]=1; int RHS tnp[M={400,414};



float R tnp[VAR] ={0.9, 0. 75, 0. 65,
0.8,0.85,0.93,0.78,0.66,0.78,0.91,0.79,0.7
7,0.67,0.79,0.67};

int BT tnp[VAR]=(3,3,3,3,3,3,3,3,3,

3,3,3,3,3,3};

int i,j;

for (i=0;i<Mi++){

R[] =RE _tnp[i];

for (j =0;j <VAR}] ++){
Clilli1=Ctnp[i][j];
BIT[j ]=BIT_tnp[j];
Rlj [=R.tnp[j ] ;

}
/*
* reoptina.c
*/
#include "genetic.h"
#include <sys/types.h>
void Reoptina()
{
int insi [VAR],small [M,i,],
loop =0, s1, s2, s3, s4;
int diff[M,unM,flag;
float insi_value;
srand( (unsigned
*INLL));
whi le( |oop++ < 1000)
{
for(i=0; i < VAR ; i++)
insi[i] =
population[0].decinal [i];
insi_value =

int)tine((tine_t

population[0].fitness;

sl = rand()WAR;

s2 = rand()%;
if( (s2==0)&&
(population[0].decinal [s1] > 1) )

--popul ation[0].decinal [s1];
else
+popul ation[0] . decinal [s]1] ;

s3 = rand( ) WAR;
if(sl =s3)
s3 = (S3+1)WAR;
s4 =rand()%;
i f((s4=0)&&
(population[0].decinal [s3] > 1))
--popul ation[0] .decinal [s3] ;
else
+popul ation[0] . decinal [s3] ;
Function_value(0);
if( popul ation[0] . fitness <
insi_value ) {
for (i=0; I<VAR; i++)

popul ation[O] .decinal [i] = insi[i];
population[0].fitness = insi_value;

}

whi | e(TRUE)
{
for (i=0;i<Mi ++){
Sunti]=0;
for (j =0; j<VAR; | ++)

Suni ] +=(population[0] .decinal [j ]1*C[i]]j])
di ff[i]=RB[i]-unfi];
}
flag=0;
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for (i=0;i<Mi++){
small [i]=Sort_Mi);

if( diff[i] >=
smal 1 [i] )
flag++;
}
if( flag =M)
{

for (i=0; i<VAR; i+t)
insi[i]
population[0].decinal [i];
for (i=0; i<VAR; i+t)
{
flag=0;
for (j =05j <Mj ++)
if(CIM]
diff[j])
flag++;

<=

if( flag=M)

imsi[i]++;
for (j =0;j <Mj ++)
diff[j[=diff[j1-C[j][i];

for (j=0; J<VAR  j++)
population[0].decinal [j ]=insi[j];
}
}
} else
break;
}
}
}
/*

* reproduction.c

*/
#include "genetic.h"
void Reproduction(int v)
{
int i,count=0,j ,k=0;
float sume0.0, aver age;
for (i=0;i < PQP;i++){
sumt=popul ation[i].fitness;
popul ation[i].actual _count=0;

}
aver age=suni ((fl oat )PCP);

for (i=0;i < PP;i++) {

popul ation[i].expected count=popul ation[i]
.fitness/ ((float )average);
}
Sort_pop();
for (i=0;i < PQP; i++) {
if(count < ROP){

population[i].actual _count=(int)(populatio
n[i].expected_count 40.5);

count +=popul ation[i].actual _count ;
tel se{
population[i].actual _count=0;
}
}
i f(count < PCP)
for (i =0; (i <PQP)&&(count
PCP) ;i ++)

<=

i f (population[i].actual _count

population[i].actual _count=1;

58 -



count ++;

}
for (i =0, count =0; (i <PP)&&(count <PCP) ;i ++)

i f(population[i].actual _count >

0){
count +=popul ationl[i].actual _count ;
for (j =0;j <popul ation[i].actual _count ;j ++)
Tenp[k++ =popul ation[i];
}
for (i=0;i < PQP;i++)
popul ation[i]=Tenp[i];

}
/*
* sort_mc
*/
#include "genetic.h"
int Sort_M int i )
{
int insi [VAR],],k,sw tenp;

for (j =0;j VAR}j ++)
insi [j1=C[i][j ];
for (j =(VAR 1);j>0:j -- {
SWeL;
for (k=0;kg ;k++)
i f(insi[k] > insi [k+1] ){
tenp=i nsi [K] ;
insi [k]=insi [k+1];
insi [k+1] =tenp;
SW=0;
}
if(sw=1)
break;
}

return(insi [0]);

/*
* sort_pop.c
*/
#include "genetic.h"
void Sort_pop( )
{
int i,j,swl;
for (i=(PCP-1);i>0;i--)
{
for (j =0sj <i ;j ++)

i f(population]j].expected _count
popul ation[j +1] . expected_count )
{
Tenp[O] =popul ation[j];

popul ation[j ]=popul ation[j +1] ;
popul ation[j +1] =Tenp[0] ;
Sw=0;
}
if(sw=1)
break;
}
i f(population[0].fitness
Max_val ue)
Max_value = population[0Q].fitness;
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